Math 3 – 313: Test Review

Name: _____________________________

_____
1. 
Which is the simplified form of the expression 
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2.
What is the value of 
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3.
What is another way to write the exponential function 
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4.
What is the range of the function 
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a. all real numbers


c.
all positive real numbers
b. all negative real numbers
d.
all real numbers except zero
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5.
What is the y-intercept of the function 
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a.
(0, –5)
b.
(0, –3)
c.
(0, 2)
d.
(0, 4)
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6.
Which function is the inverse of 
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7.
Which function does not have an inverse function?
a. 
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8.
If the point (–5, 0.125) lies on the graph of a function 
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the graph of 
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a. (5, –0.125)


c.
(–0.124, 5)
b. (0.125, –5)


d.
(–0.2, –0.125)
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9.
Which logarithmic equation is equivalent to the exponential equation 
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10.
Which point is on the graph of 
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 for any a > 0, a ≠ 1?

a. (0, 0)
b. (1, 0)
c. (0, 1)
d. (1, a)
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11.
Given that 
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, what is the exact value of 
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a.
8.692


b.
6.63


c.
1.875


d.
2.183
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12.
What are all the solutions of the equation 
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a. x = ± 27
b. x = 27
c. x = 9
d. x = 6
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13.
What is the domain of the function 
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a.
all real numbers greater than 3
b.     all real numbers greater than –3
 

c.
all real numbers greater than 1
d.     all real numbers great than –1
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14.
Condense the expression 
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15.
Rewrite the logarithmic expression 
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 using log x, log y, and log z.
a. 2 log x + 10 log y – 3 log z
b. log x2 + log y2/5 – log z3
c. 2 log x + 0.4 log y – 3 log z
d. 2 log x + 0.4 log y + 3 log z
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16.
What is the range of 
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a.
all positive real numbers


b.
all negative real numbers



c.
all non-negative real numbers


d.
all real numbers
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17.
Which transformations will produce the graph of 
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a.
Translate the graph of f(x) to the left 3 units and down 1 unit.


b.
Translate the graph of f(x) to the right 1 unit and down 3 units.


c.
Translate the graph of f(x) to the left 3 units and up 1 unit.


d.
Translate the graph of f(x) to the right 3 units and up 1 unit.
_____
18.
If 
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a.
x = –4


b.
x = 4


c.
x = 1/4


d.
x = 8
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19.
Solve 
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a.
–2


b.
–0.5


c.
0.5


d.
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